	Industry, service and trade (1)
	Unit 11


Lösungen: Division of labour
Aufgabe 1:

· It helps them keep up with the competition
· It increases efficiency
· High productivity rate
· High quality of products
· High profits
a) He says that profits will increase because employees are able to produce products quicker, meaning the company can sell more.

· They are more skilled
· They can take pride in their work
· They receive higher wages
b) Mitarbeiter können stolz auf ihre Arbeit sein.

· Companies have to pay the employees higher wages
· The quality of the product suffers
· Workers become bored and unsatisfied if they are always doing the same thing
c) Ms Saunders says that it is important for a company to be flexible, because it must be able to deal with changes in the market and consumer demand. She says that the business world does not stand still.

d) According to Ms Saunders, workers who have limited skills are in danger of being replaced by machines.
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